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AT A HET: AT

(HLFD HHpFsgsk| Aid b (CSUED) HHErgk| mid ke (HLFD HAARFRm | #iA (SUED) HARFRm | #iHk
T 0 0 - 0 0 CEEER 0 0 A - 0 0
B4R % | ma—n 42,840 17,080] % 4R 4 3¢ | 4mE4Ha—p 5,129 -19 R 45 % | o 31,070 11,440| #F $R 55 3% | - 0 -3,040
it 42,840 17,080 it 5,129 -19 it 31,070 11,440 it Of 5,040
AHHa-u 953 18 AHHa-u 1,913 32 AHa-u 950 950 Ha-y 2,024 1,294
4R SHEFE 1) 16,752 -4,548] i 4R MEFE - 91,359 6,874 Mo R | HEHa- 18,640 13,010 # $R |MEEa- 81,057 20,672
Eis 17,705]  ~4,530 in 93,272 6,906 i 19,590| 13,960 &t 83,081] 21,966
e 15,429 596 AR 0 0 Afa— 15,256 408 ARy 0 0
e SHEFE 1)) 53,000 4,824} & |- 3,861 2,205 5 Ft | EEa- 58,872 9,476| & Gt |- 4,550 1,339
2t 68.429| 5420 it 3,861 2,205 it 74,128] 9,884 it 4,5500 1,339
5%, A A 13,729 59| 155 HHa—y 0 0 9)5) AHa-nv 13,556 408] 956 AHHa—)y 0 0
@ 12) | 4Ema—n 45,659 —70ol | G® 13) |fmfa—n 0 0 (7)) |#EHa—n 49,102 6,376 | (& 18) | HEiHa—n 0 0
it 59,388| 1,318 it 0 0 it 62,658 6,784 it 0 0
e 0 0 - 0 0 CEEER 0 0 A - 0 0
PO = R 1,535 “7000 Ah SR | MEH- 3,755| 1,448 4 4R | M- 1200 24700 Sh g | MEHa-L 1,750 ~590
Fin 1,535 ~700 Fin 3,755 ~1,448 Fin 120 2,470 it 1,750 590
T 0 0 A - 591 -7 CEEER 0 0 A - 345 317
o HigR SHEFH 1)) 958 1371 wEomisr | M- 10,777 -1,039 FoHgR | - 1,250 1,070] ZEoHugR | MEHHa-L 13,006 8,856
Fin 958 -137 Fin 11,368] 1,046 Fin 1,250] 1,070 it 13,351 9,173
e 693 270 Ao 528 18 A o) 550 -230 AL 520 13
E4hse | mEa— 12,245 96| 1Eerha | mEHaI-L 1,572 -210 Baehe |HHa-y 12,225 3,635] fE&xrfd: | MEfHa-v 1,620 550
B4 &t 12,938 366 B4 3t 2,100 192 B4 3t 12,775 3,405 {54 &t 2,140 563
G 0 0 - 0 0 CEEER 0 0 A - 0 0
LR SEH 1)) 11,352 -506] A | #EEa- 0 -10 ERRRE | - 8,600 7,850 EAMRHE | WL 0 0
it 11,352 506 it 0 -10 it 8,600 7,850 it 0 0
T 0 0 F - 2,000 -3 CEEER 0 0 A - 2,000 0
HEHFEA 0K | A 0 OffEe-FE 4o MR- 31,985 1,714 FiEs - REA50Y B4 0 O I i 423534 Meffla— 34,442 5,304
2t 0 0 3t 33,985 1,711 it 0 0 it 36,442 5,304
T 0 0 - 0 0 CEEER 0 0 A - 0 0
GERTRONNE = GER 4,626 -332] R | fEEI-L 0 0 R | 4,600)  -600] EHUfR | M- 0 0
it 4,626 332 it 0 0 it 4,600 600 it 0 0
HHa—n 300 0 Ha—y 1,525 44 - 300 0 A - 1,667 208
0 SHEFH 1)) 19,742 1281 # oo | mEpHa- 14,612 -2,858 ot | M- 18,448 4001 = o | IV 17,400 10,720
2t 20,042 ~728 N 16,137| 2,814 N 18,748 400 it 19,067] 10,928
A o)l 17,375 -848 PR 6,557 84 - 17,056 1,128 Ha-y 6,556 1,832
= N N L {2 163,050 5209 # & &t | HEfHa-p 163,050 5,209 A b | #EHI-V| 153,825 43,811 #k & B | #EHa-n| 163,825 43,811
=) 180,425 4,361 5B 169,607 5,293 it 170,881 44,939 &t 160,381 45,643
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CHLFD A HsEsgsk| miH b B F) A HEgsE mid b (LT AFFEE | Ak B F) AFFEE | miAk
Hfda—n 0 0 Hfda—n 0 0 AHHa-y 0 0 Afta-y 0 0
R A O% | -y 53,447|  10,607| #P R 4F ¢ | HEAHa— 4,225 -904 BSR4 K | M- 40,490 9,420 #P R 45 ¢ | MEHa— 1,600 1,600
it 53,447) 10,607 i 4,225| 904 it 40,490 9.420 i LO0O, 1,600
HHa—L 1,035 82 HHa—y 2,118 205 HHa—y 1,120 170 HiHa—y 2,250 226
Ho gR | 4EHI 19,094 o342 Hh g8 |4EfAa—n| 103,274 11,915 Ho 4R | AL 17,730 “olo) i 4R | AEHHa-L 89,455 8,398
3t 20,129 2,424 &t 105,392 12,120 &t 18,850 ~740 it 91,705 8,624
fria-n| 27,050 11,621 GRCER 0 0 Afllaol) 24,848 9,592 - 0 0
& 7t |#fHa- 55,586 2,586 15 RE |- 5,013 1,152 f& FE |MEHa-y 53,829|  5,043] f& FE |MEHa-L 4,271 213
it 82,636 14,207 i p013| 1,152 it 78,677| 4,549 i L2 e
5% I 25,618 11,889 )5} AHHa—n 0 0 " AHHHa—nv 23,448 9,892 9)5) Ay 0 0
@ 7)) |mmaon|  oasosa|  2628| | @& 1R) |#Esman 0 0 (B f7) | efa-n) 48260 833) | (B R) | AL 0 0
it 73,902 14,514 i 0 0 it TL7IT| 9,059 i 0 0
Hfda—pn 0 0 Hfda—pn 0 0 AHHa-y 0 0 Afta-y 0 0
S 4R |- 253  -1282) 4 4R |MEdHo-n 2,509 1,246 S 4R | HEHa—L 810 690 4b gR | AEHa-n 2,380 630
3 253 1,282 it 2,509  ~1,246 it 810 690 it 2,380 630
A Ra—L 0 0 AHa— 708 117 AH{Ha— 0 0 A= 677 332
FoMgR | #EMHa— 1,133 175|  gEotigR | #EHa—L 12,651 1,874 oM | MEfHa— 820 ~430) GH2HR | AL 11,6201 1,386
it 1,133 175 it 13,359 1,991 it 820 ~430 it 12,297, 1,054
HHa—n 601 -92 Aia—y 546 18 GRE 420 ~130 Ay 551 37
fBaha | #EHI-L 13,118 873| 1244 | MEHa-L 2,018 446 fFarpd | #HH—) 11,425 -800] fE&rha | EHHaI—) 1,690 70
Fé it 13,719 781 (E4 it 2,564 464 Fé it 11,845 930 (EE2 il 2,247 107
Hfda—n 0 0 Hfda—n 0 0 AHHa—-y 0 0 Afta-y 0 0
ARG | R 5372|5980 ke | fEEa-n 11 11 BEARRAE | i) 8,600 O Bt | A 0 0
it 5,372|  -5,980 it 11 1 it 8,600 0 it 0 "
A Ra—L 0 0 AHa— 1,732 968 A{Ha— 0 0 A fHa— 1,700 300
HEH FEAD O | R 13 13RESR R4 %3 fEHHa—) 31,405 -580 FE2s - RE4 33y 4E4Ha— 0 OFEZ - REA 3% MEFHa— 33,030 -1,412
21 13 13 zp 33,137 848 it 0 0 it 34,730) 1,712
Hia—y 0 0 Hia—y 0 0 AHHa-y 0 0 A fHa— 0 0
ERR | - 4,600 -26] AR R | - 0 0 AR R | EEa— 4,600 of 4 HF | &Ry 0 0
3 4,600 26 e 0 0 it 4,600 0 it 0 0
A 300 0 a1 1,751 226 - 300 0 Aia- 1,790 123
0 SEH 1)) 20,253 5111 % o | MEfHa— 11,763 -2,849 Z O | - 20,178 1,730 & O fill | MEHHa—) 14,430 -2,970
it 20,553 511 it 13514] 2,623 it 20,478 1,730 il 16,2201 2,847
A - 28,986 11,611 A A 6,855 298 A 26,688 9,632 A Ha-y 6,974 418
oA st | e 172,869 98191 & & 3 |4mma—n 172,869 9,819 WA E | I 158,482 4,657 # & FF | Mo 158,482 4,657
2} 201,855| 21,430 3t 179,724] 10,117 it 185170] 14,289 it 165,156 2,075
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(HLFD A PEEEE| miA W UED) A g miH (HLTD AXFES | midk SUED) AFFES | miAk
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R & | Mo 53,511 64 A0 £R & 3 | - 5,273 1,048 AR S 3 | Mo 1,100 —39,390] #F $8 %5 3% | MiHa—n 1,700 100
it 53,511 64 it 5,273 1,048 it 1,100] —39,390 gt 1,700 100
HiHa—y 1,132 97 HiHa—y 2,063 -55 HiHa—y 0 -1,120 HHHa—py 956 -1,294
Ho R #EHHa— )L 18,512 582 # 4R | MEHa- 106,561 3,287 Mo R | HEHa- 4,590 -13,140] Hi 4R | EHI- 47,533 -41,922
it 19,644 -485 it 108,624 3,232 it 4,590 14,260 gt 48,489 -43,216
HiHa—y 26,359 -691 HiHa—y 0 0 HiHa—y 13,450 11,398 HHHa—py 0 0
5 Ft fEHa— )L 59,710 4,124 1§ FE | EEHo- 6,540 1,527 &5 3t | EHHa- 68,477 14,648 & 7t |#E{Ea- 9,368 5,091
it 86,069 3,433 it 6,540 1,527 it 81,927 3,250 gt 9,368 5,091
)5} HHHa—) 24,882 -736] [9H HHHa—) 0 0 9)5) HHaa—L 11,250 -12,198] 956 AHHHa— 0 0
& 17) | EHa-y 53,942 5,658 & 13) | mHa—py 0 0 & 17) | Efa—py 63,447 15,178 & 17) | EHa—y 0 0
it 78,824 4,922 it 0 0 it 74,697 2,980 gt 0 0
HHHa—u 0 0 HHHa—v 0 0 HiHa—v 0 0 Ao 0 0
s R M a1 2,570 2,317 4+ R | EEHa- 2,171 -338 s R | EEHa- 1,260 450 4 4R | I 1,450 ~930
it 2,570 2,317 it 2,171 -338 it 1,260 450 gt 1,450 -930
HiHa—y 0 0 HiHa—y 757 49 HiHa—y 0 0 HHHa—py 128 -549
HOMIER $EAH ) 900 -233| ZEoMigR | MEHa- 12,493 -158 FoHgR | - 180 -640| 2R | MEfHa-L 3,930 -7,690
it 900 -233 it 13,250 -109 it 180 -640 gt 4,058 -8,239
HiHa—y 563 -38 HiHa—y 554 8 HiHa—y 225 -195 HHHa—py 516 -41
fFa&hse | EfHa- 13,020 98| B4H4 | mEHa-L 1,945 -73 fFaefse | EHEa-L 7,000 -4,425) f§4&44 | Wi 0 -1,690
154 2 13,583 -136 54 2} 2,499 -65 154 2} 7,225 ~4,620 154 2| 516 -1,731
HHHa— 0 0 HiHa—v 0 0 HiHa—v 0 0 AHiHa— 0 0
BRI 3,744 -1,628] EAMRHE | oL 0 -11 BARRHE | - 700 ~7,900] EAMRHE | WL 0 0
it 3,744 -1,628 it 0 -11 it 700 -7,900 gt 0 0
HiHa—y 0 0 HiHa—y 1,777 45 HiHa—y 0 0 HHHa—py 2,500 800
FESRRIEA 3% | M a—) 0 ~13fESRFIEA e M a— L 35,150 3,745 FEs R4 ey b a—n 0 OFESS - RIEA 33 Mg a—)L 37,324 4,294
it 0 -13 it 36,927 3,790 it 0 0 gt 39,824 5,094
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R R M a1 4,655 55| A= fR R | Mo 0 0 £ HE R | BHEa- 4,800 200) £ 4R R | EHHa-L 0 0
it 4,655 55 it 0 0 it 4,800 200 gt 0 0
HiHa—y 301 1 HiHa—y 2,467 716 HiHa—y 300 0 HHHa—py 2,628 838
% D fth $EAH )V 23,154 2,901 = o | fEHa-L 9,643 -2,120 Z O | EEHa- 16,218 -3,960] & @ fth | a0 3,020 -11,410
it 23,455 2,902 it 12,110 -1,404 it 16,518 -3,960 &t 5,648 -10,572
HiHa—y 28,355 -631 HiHa—y 7,618 763 HiHa—y 13,975 12,713 HHa—py 6,728 -246
A Et M a—)L 179,776 6,907 # & & | fEHa-L 179,776 6,907 wEE | e 104,325 54,157 # & F | EHI-L 104,325 -54,157
it 208,131 6,276 it 187,394 7,670 it 118,300| 66,870 &t 111,053] -54,403
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CHLFD APk Ak (CLUED) HHopspe| miA b CHLFD AXFEE | #iA L (EF) AAFEE | BiAK
AHHa— 0 0 AHHa— 0 0 AHHa— 0 0 AfHa—) 0 0
B R A % | M- 46,138 ~7,373| A #R & % | Mo 6,679 1,406 I 6R A | o 67,080 65,980] #B R % 3% | M- 7,500 5,800
2t 46,138 7,373 at 6,679 1,406 it 67,080 65,980 it 7,500 5,800
AR 900 -232 AHa— 2,065 2 AHa— 1,000 1,000 ARy 2,191 1,235
Hoo4R | M 19,497 985 M 4R | MEiHa- 90,485 -16,076 Hoo gR | HEHa- 24,765| 20,175 M #R | MEfHa- 94,072 46,539
3t 20,397 753 it 92,550| 16,074 it 25,765| 21,175 it 96,263] 47,774
A 27,000 641 A 0 0 A o) 18,089 4,639 AL 0 0
g it R a— 56,553 -3,157) & F |EHH1- 9,762 3,222 5 Ft | EEa- 50,542 17,935 1§ Rt | MEHHa-y 9,476 108
2t 83,553| 2,516 at 9,762 3,222 it 68,631] ~13,296 it 9,476 108
55 A 25.494 612 [>5 AHa— 0 0 o)) Afa— 16,689 5,439 |9 ARy 0 0
G 2 |mima—n 50,993 -2,949 & 12) | mpa—p 0 0 F 1) |#EHa— 45,792 -17,655 (& 18) |- 0 0
2t 76,487|  -2.337 2t 0 0 at 62,481 ~12,216 it 0 0
AHHa— 0 0 AHHa— 0 0 AHHa— 0 0 AfHa— 0 0
N R | - 2,008 —ae2| A 4R | fEEI— 2,508 337 SR | L 1,240 200 b SR e 1,850 400
2t 2,108 462 s 2,508 337 it 1,240 20 it 1,850 200
A 0 0 A 562 ~195 A Ha—u 0 0 AHHa—) 400 272
HEOMIER | - 1,991 1,091] ZE2tigR | a0 11,671 -822 FoHiER | a0 2,880 2,700] FE2HiER | M- 13,914 9,984
=t 1,991 1,091 18 12,233 1,017 18 2,880 2,700 it 14,314] 10,256
Fria—, a3l 150 - 563 9 Frtla—n 255 30 Ay 580 61
fRahd | fEHa-y 13,089 69| fFaha | MmHa—y 1,049 896 fFha | MEHa— 11,625 4,625| (R | #EHa—) 555 555
B4 &t 13,502 -81 B4 3t 1,612 ~887 B4 3t 11,880 4,655 {54 &t 1,135 619
AHHa— 0 0 AHHa— 0 0 AHHa— 0 0 AfHa—) 0 0
SRR | -y 3,550 -194)  EACRHE | HEHa- 2,453 2,453 JEMGRFE | - 300 —400| BEARRHE | HEHI- 16,800 16,800
it 3,550 ~194 it 2,453| 2,453 it 300 ~400 it 16.800] 16,800
o 0 0 Afa—p 1,808 31 Aia—y 0 0 A fHa—y 1,700 ~800
- FIE A 50% | M- 0 OffEe-FE 4o MR- 32,901  -2,249 FiEs - REA50Y B4 0 O I i 423534 Meffla— 28,5931 8,731
2 0 0 Fin 34,709| 2,218 Fin 0 0 it 30,293] 9,531
FriHa—n 0 0 FrfHa— 0 0 FHa— 0 0 Frifa—y 0 0
AR | SR 4,930 275| AR | M- 0 0 AR | SR 5,000 2000 R R | AL 0 0
it 4,930 275 it 0 0 it 5,000 200 it 0 0
A - 300 -1 A I 2,820 353 Ay 300 0 A Ha-y 2,757 129
Z Ot | HEHI— 20,731 -2,423] F O fh | M- 11,079 1,436 Z O f | - 15,708 -510] % o fh | #EHI-L 6,380 3,360
2 21,031] 2,424 il 13,899] 1,789 il 16,008 510 il 9,137) 3,489
HHHa— 28,613 258 HiHa—y 7,818 200 FHHHa— 19,644 5,669 HHa—y 7,628 900
R N 3 = 168,587 11,189 #& & FF | #Ha-n 168,587 11,189 AR | - 179,140 74,815 # & & | #EHa—0 179,140 74,815
it 197,200] 10,931 it 176,405 10,989 it 198,784] 80,484 it 186,768 75,715
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LT A sk AiA b (GEUED) Ak miA b CHLFD Akskm | AiA K (GrUED) Akrkm | BiA
B 0 0 £ifia— 0 0 A ftla— 0 0 = 0 0
A S 3 R 59,325| 13,187 #B 8 % % | fEfHI—L 8,762 2,083 #O8R S % | M- 44,440 -22,640| #B #R 5 X | HfHa—n 1,180 6,320
it 59,325 13,187 i 8,762| 2,083 it 44,440 22,640 it L180L 6,320
HHHa— 1,059 159 HiHa—y 2,162 97 HHHa—y 1,220 220 HHa—y 2,691 500
HoogR o |smEmaon| 24027 4730] M @R |mmEaon| 91462 977 oo g | fEa-L) 25,570 805 M SR AEHamy) 83,278 10,794
it 25,286] 4,889 i 93,624] 1,074 it 26,790] 1,025 it 85,969, 10,201
A - 27,689 689 a1 0 0 A fHa—p 26,615 8,526 Afta-y 0 0
fg 7t Mmoo 52801 see2| (2 g | Ao 7,896| 1,866 f& FE | Mefa—np] o 50,190) o -352) fF RE | M-y 1012 1,536
it 80,580 2,973 it 7,806] 1,866 il 76,805| 8,174 it 11,0121 1,536
55 - 26,289 951 [55 e 0 0 5%, A A 25,215 8,526 9B HHa—n 0 0
@ 2 |mmaon| 48301 2602| | @ ) | e 0 0 (B {F) |f@a—n) 45,2400 552 | (B ) | - 0 0
it 74,680] 1,807 it 0 0 il 70.455| 7,974 it 0 0
a1 0 0 £ifia— 0 0 A ftla— 0 0 = 0 0
ShgR | A 1,509 sv9| b g | MmpEa-n 2,334 174 S g | R 470 TTof Sh g | AL 1,820 0
it 1,509 599 i 2,334 114 it 470, 770 it 1,820 0
e 0 0 A 457 ~105 A Ha—u 0 0 Ay 458 58
WohgR | 4EHHa-L 2,717 726] iEoMigR | HEHHa-L 10,206| 1,465 HohgR | #EHHa—L 2,390 —490|  FB2MER | HEHHa—p 10,110~ 3,804
it 2,717 726 it 10,663]  ~1,570 it 2,390 490 it 10,568 3,746
ey 491 78 - 625 62 FHA- 325 70 Frifa—y 705 125
Ead4 | EHa- 13,047 421 B4h4 | mEHa— 597 -452 Fapa | EHa—) 11,665 10| Fa&HF4 | EHa- 480 -75
B &t 13,538 36 B4 3t 1,222 -390 B4 3t 11,990 110 {54 &t 1,185 50
a1 0 0 £ifia— 0 0 A ftla— 0 0 = 0 0
JEARRAE | HEHHa— 582  -2,968] JSEACRHE | - 13,521 11,068 JEMGRA | MEE - 450 150] FEMRRHFE | M- 11,100|  -5,700
2t 582 2,968 it 13,521 11,068 it 450 150 it 11,1001 =5.700
A 0 0 A 1,700 -108 FEEER 0 0 A Ha-y 1,700 0
S 3 ook | SR a— 0 OfiE % -3 43 dE g ) 31,783|  -1,118 FIEZR - RiE4 350y 4R a—)) 0 OfIESR - R4 3534 R a—)1 29,923 1,330
2t 0 0 it 33,483]  -1,226 it 0 0 it 31,623 1,330
a1 0 0 £ifia— 0 0 A ftla— 0 0 = 0 0
AR | mEdEa—p 5,023 93] 4 | MEHa- 0 0 AR | B 5,100 100 A f8 £ | #EHa— 0 0
2} 5.023 93 2 0 0 =t 5,100 100 it 0 0
- 300 0 e 2.824 4 A A 300 0 Az 2,931 174
Zofh | I 17,463 3,268 & o fh | 3 10,223 -856 Z O | I 17,718 2,010 # o fih | M- 9,090 2,710
it 17,763| 3,268 it 13,047) 852 it 18,018 2,010 it 12,02 2,881
A 29,539 926 AHa—y 7,768 =50 AHa—y 28,460 8,816 Ay 8,485 857
WA E | A 176,784 8,197 # & Ft | ME4Ha—) 176,784 8,197 WA E | I 157,993 -21,147| #& A& F | #Ha—p 157,993 21,147
=t 206,323 9,123 =t 184,552 8,147 it 186,453| 12,331 i 166,478] 20,290
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(HLFD A PEEEE| miA W UED) A g miH (HLTD AXFES | midk SUED) AFFES | miAk
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R & | Mo 15,915  —43,410] #B $R 4% % | fEdHa—y 3,801 -4,961 AR S 3 | Mo 1,900 —42,540] # $8 %5 3% | M- 9,659 8,479
it 15,915 43,410 it 3,801 -4,961 it 1,900] -42,540 gt 9,659 8,479
HiHa—y 1,179 120 HiHa—y 2,294 132 HiHa—y 0 -1,220 HHHa—py 956 -1,735
Ho R #EHHa— )L 29,372 5,145 1 4R | MEHa-L 69,707 -21,755 Mo R | HEHa- 5,600 -19,970] H1 R | EfHa—p 38,683 —44,595
it 30,551 5,265 it 72,001 21,623 it 5,600 21,190 gt 39,639 —46,330
HiHa—y 27,255 -434 HiHa—y 0 0 HiHa—y 24,405 -2,210 HHHa—py 0 0
5 Ft fEHa— )L 54,767 1,876 1§ & | #EfHa—y 9,286 1,390 &5 3t | EHHa- 72,006 21,816 15 Ft | #EH— 15,953 4,941
it 82,022 1,442 it 9,286 1,390 it 96,411 19,606 gt 15,953 4,941
)5} HHHa—) 25,855 -434) 96 HHHa—) 0 0 9)5) HHaa—L 23,005 -2,210] [oHB AHHHa— 0 0
& 17) | EHa-y 49,446 1,055 & 13) | mHa—py 0 0 & 17) | Efa—py 62,586 17,346 & 17) | EHa—y 0 0
it 75,301 621 it 0 0 it 85,591 15,136 gt 0 0
HHHa—u 0 0 HHHa—v 0 0 HiHa—v 0 0 Ao 0 0
s R M a1 2,253 744 A R | EEHHa- 2,620 286 s R | EEHa- 1,850 1,380 4 R | EHHa-L 2,630 810
it 2,253 744 it 2,620 286 it 1,850 1,380 gt 2,630 810
HiHa—y 0 0 HiHa—y 516 59 HiHa—y 0 0 HHHa—py 0 -458
2R M a1 2,765 48]  FE2MigR | Mo 8,872 -1,334 FoHgR | - 130 -2,260] FF2HER | MR- 5,620 -4,490
it 2,765 48 it 9,388 -1,275 it 130 -2,260 gt 5,620 -4,948
HiHa—y 462 -29 HiHa—y 728 103 HiHa—y 408 83 HHHa—py 735 30
fFa&hse | EfHa- 11,128 1,919 E4&+4 | fEfHa- 506 -91 fFaefse | EHEa-L 8,090 -3,575] f§4&+H4 | EfHa-n 200 -280
154 2 11,590 -1,948 54 2} 1,234 12 154 2} 8,498 -3,492 154 2| 935 -250
HHHa— 0 0 HiHa—v 0 0 HiHa—v 0 0 AHiHa— 0 0
BRI 1,577 995] EMRAL | MEfHa- 3,097| 10,424 R | A 750 300 EARERHE | #EEa-) o -11,100
it 1,577 995 it 3,097]  -10,424 it 750 300 gt 0 -11,100
HiHa—y 0 0 HiHa—y 1,700 0 HiHa—y 0 0 HHHa—py 1,700 0
FESRRIEA 3% | M a—) 0 OFIF  FIFAr 363 Mt a—) 31,550 -233 FEs R4 ey b a—n 0 OFESS - RIEA 33 Mg a—)L 31,726 1,803
it 0 0 it 33,250 -233 it 0 0 gt 33,426 1,803
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R R M a1 4,717 -306) ZEHH R | EEHa- 0 0 £ HE R | BHEa- 4,600 -500| A | EEa- 0 0
it 4,717 -306 it 0 0 it 4,600 -500 gt 0 0
HiHa—y 300 0 HiHa—y 2,598 -2926 HiHa—y 300 0 HHHa—py 2,176 ~755
% D fth $EAH )V 19,062 1,599 & o fth | M- 12,117 1,894 Z O | EEHa- 16,945 173 o fth | a0 7,400 -1,690
it 19,362 1,599 it 14,715 1,668 it 17,245 -773 &t 9,576 -2,445
HiHa—y 29,196 -343 HiHa—y 7,836 68 HiHa—y 25,113 -3,347 HHa—py 5,567 -2,918
A Et M a—)L 141,556 -35,228] # A& FF | W0 141,556| —35,228 wEE | e 111,871 46,122 # & & | EHI—1 111,871 -46,122
it 170,752 35,571 it 149,392 35,160 it 136,984 -49,469 &t 117,438 49,040
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2022 - 7 H EER o — LTS

AT A HET: AT

2022 & 7 H ERERIa— LT H K&

AT A HET: AT

(HLF) A vkl difd b (GUED) A skl B M CHILF) AAFkw | A (GUER) HRFkE | HiA
Hfda—n 0 0 Hfda—n 0 0 AHHa-y 0 0 Afta-y 0 0
R A O% | -y 8,353 7,562 #B #R 4 K | #EHa-L 12,167 8,366 BSR4 K | M- 13,500 11,600 #B # 5 2% | MEfHa—L 24,318 14,659
zp 8,353] 7,562 it 12,167 8,366 it 13,500{ 11,600 it 24,318] 14,659
HHa—L 1,178 -1 HHa—y 1,937 -357 HHa—y 1,070 1,070 HiHa—y 1,826 870
4R SEH 1)) 27,642 -1,730] #t 4R | MEHHa—L 63,744 -5,963 R | MEfLa- 29,500 23,900 H1 4R | MEHHa-0 71,373 32,690
zp 28,820 1,731 it 65,681 6,320 it 30,570] 24,970 it 73,199] 33,560
e 27.159 96 A 0 0 Aa— 26,409 2,004 Aita- 0 0
& st |mema-n| o oee127] 1360 f5 g |dma-n| 4995 4,201 f& 7e Mool 79397\ 73910 fF FE | MEHa-V) 2,673 13,280
it 93,286| 11,264 it 4,995| 4,291 it 105,8061 9,395 Bt el
5% I 25,759 -96 )5} AHHa—n 0 0 " AHHHa—nv 25,009 2,004 9)5) Ay 0 0
@ 7)) |mmaon|  ss7as|  9202f | g fR) |#Esan 0 0 (B f7) | fefa—nv)68.247)  5661) | (B fR) | AL 0 0
it 84,497| 9,196 i 0 0 it 93,256 7.665 i 0 0
Hfda—pn 0 0 Hfda—pn 0 0 AHHa-y 0 0 Afta-y 0 0
ZONE - I 5 = B 3,055 goz| 4 SR | fMEHHa-n 2,302 -318 SR | MEEao 2,825 975 S g | AEHa- 2,110 520
it 3,055 802 it 2,302] 318 it 2,825 975 Bt el
A Ra—L 0 0 AHa— 685 169 AH{Ha— 0 0 A= 611 611
HEOMIER | - 2,323 -442]  ZEoHngR | MEHa—L 6,442|  -2,430 FoHiER | a0 2,500 2,370 FE2HiER | M- 5,670 50
=) 2,323 ~449 s 7,127 -2,261 it 2,500 2,370 it 6,281 661
Han 458 4 A A 735 7 Ha—y 217 -191 HHa—y 735 0
feome  |mHaor| 12203 1135| Eeme |mpa— 480 26 fEefd: | #Efo—n| 11,355 3,265 fR&e | oL 180 280
& it 12,721 1,131 R i 1,215 -19 Eé it 11,572] 3,074 EER it 1,215 280
Hfda—n 0 0 Hfda—n 0 0 AHHa—-y 0 0 Afta-y 0 0
FEMRAE | MR- 569|  -1,008] fRMHAE | I 8912| 5815 FEMRRAE | - 550|  200] JRARAHE | M-y 16,0000 16,000
3 569  ~1,008 it 8912| 5815 it 550 ~200 it 16,0001 16,000
it 0 0 frina—n| 1,700 0 A= 0 0 frifia-ig o 1700 0
S A A% | A 2 ofiEdFEAOH Moy | 34,031 2481  FEH-FEEOH M- 0 OFESREGHO) MEffla—n | 29,101) 2,625
2t 2 2 it 35,731 2,481 it 0 0 il 30,8011 2,625
Hfda—pn 0 0 Hfda—n 0 0 AHHa-y 0 0 Afta-y 0 0
ARG | MR- 4,600 07| AR | M 0 0 ARG | SR 4,600 of &R | HEfla-L 0 0
it 4,600 -117 it 0 0 it 4,600 0 it : "
A 300 0 A 1,965 -633 HHHa—v 300 0 AHHa—y 1,804 -372
T oM | By 18,008 ~1,054] & Ol | HEHI—p 9,869| 2,248 T oMl | -y 16,868 T % ol | B 9,370 1,970
it 18,308] 1,051 it 11,834] 2881 it 17,168 17 i LI 1098
HHa—L 29,095 -101 HHa—y 7,022 -814 HHa—y 27,996 2,883 HiHa—y 6,676 1,109
o A2 | o 142,942 1,386] #& & F | EHa- 142,942 1,386 WA E | I 161,095 49,224 #& A F | HH2—0 161,095 49,224
2t 172,037 1,285 it 149,964 572 it 189,091| 52,107 it 167,771] 50,333
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2022 4 8 H EER o — LTS

AT A HET: AT

2022 4 8 H EER = — L H Kk

AT A HET: AT

(HLFD A PEEEE| miA W UED) A g miH (HLTD AXFES | midk SUED) AFFES | miAk
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R & | Mo 7,252 ~1,101] A% R %5 3% | fEfHa— 12,916 749 AR S 3 | Mo 5,800 =7,700] #B 4R % 3% | FfHa— 14,329 -9,989
it 7,252 -1,101 it 12,916 749 it 5,800 -7,700 gt 14,329 -9,989
HiHa—y 1,229 51 HiHa—y 1,866 -71 HiHa—y 1,500 430 HHHa—py 1,626 -200
Ho R #EHHa— )L 28,473 831 # 4R | MEHa- 62,194 -1,550 Mo R | HEHa- 28,850 -650] Mt R | EfHa- 65,098 -6,275
it 29,702 882 it 64,060 -1,621 it 30,350 -220 gt 66,724 -6,475
HiHa—y 27,427 268 HiHa—y 0 0 HiHa—y 25,259 -1,150 HHHa—py 0 0
5 Ft fEHa— )L 63,948 2,179 & F | EHa- 2,931 -2,064 &5 3t | EHHa- 59,889 -19,508] 1§ Ft | EHa—p 1,115 -1,558
it 91,375 -1,911 it 2,931 -2,064 it 85,148 20,658 gt 1,115 -1,558
)5} HHHa—) 26,027 268] [9H HHHa—) 0 0 9)5) HHaa—L 23,859 -1,150] [®B AHHHa— 0 0
& 17) | EHa-y 55,392 -3,346 & 13) | mHa—py 0 0 # f3) | -y 50,879 -17,368 & 17) | EHa—y 0 0
it 81,419 -3,078 it 0 0 it 74,738 -18,518 gt 0 0
HHHa—u 0 0 HHHa—v 0 0 HiHa—v 0 0 Ao 0 0
s R M a1 2,279 -776) A R | EEHa- 2,326 24 s R | EEHa- 430 -2,395) 4+ R | EfHa-n 2,120 10
it 2,279 -776 it 2,326 24 it 430 -2,395 gt 2,120 10
HiHa—y 0 0 HiHa—y 1,006 321 HiHa—y 0 0 HHHa—py 789 178
HOMIER $EAH ) 2,226 971 o | MEHa-L 6,456 14 FoHgR | - 2,430 70 HEoHigR | Mo 6,565 895
it 2,226 -97 it 7,462 335 it 2,430 -70 gt 7,354 1,073
HiHa—y 372 -86 HiHa—y 735 0 HiHa—y 543 326 HHHa—py 735 0
fFa&hse | EfHa- 14,337 2,074 1E4&+4 | MEHa-L 908 428 fFaefse | EHEa-L 13,200 1,845 1544 | M- 480 0
154 2} 14,709 1,988 54 =t 1,643 428 154 =t 13,743 2,171 {54 2t 1,215 0
HHHa— 0 0 HiHa—v 0 0 HiHa—v 0 0 AHiHa— 0 0
BRI 642 73| EMRHE | I 6,281 -2,631 R | A 550 o EMRFRHE | EHa— 600| -15,400
it 642 73 it 6,281 -2,631 it 550 0 gt 600 -15,400
HiHa—y 0 0 HiHa—y 1,701 1 HiHa—y 0 0 HHHa—py 1,720 20
FESRRIEA 3% | M a—) 0 —oFiF  RIFAr 363 M a— ) 34,909 878 FEs R4 ey b a—n 0 OFESS - RIEA 33 Mg a—)L 31,418 2,317
it 0 -2 it 36,610 879 it 0 0 gt 33,138 2,337
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R R M a1 4,713 13 A # /| EHa- 0 0 £ HE R | BHEa- 3,900 -700] A | EEa- 0 0
it 4,713 113 it 0 0 it 3,900 -700 gt 0 0
HiHa—y 300 0 HiHa—y 1,837 -128 HiHa—y 300 0 HHHa—py 2,204 400
% D fth $EAH )V 21,827 3,819 = o | MEHa—-L 16,776 6,907 Z O | EEHa- 21,486 4,618 = o | M- 14,810 5,440
it 22,127 3,819 it 18,613 6,779 it 21,786 4,618 &t 17,014 5,840
HiHa—y 29,328 233 HiHa—y 7,145 123 HiHa—y 27,602 -394 HHa—py 7,074 398
A Et M a—)L 145,697 2,755 # & § | fEHa-L 145,697 2,755 wEE | e 136,535 -24,560| #& & | EHI-L 136,535 —24,560
it 175,025 2,988 it 152,842 2,878 it 164,137| -24,954 &t 143,609 24,162
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2022 4 9 H EER o — LTS

AT A HET: AT

2022 4 9 H EmERIa— L H Kk

AT A HET: AT

(HLFD A PEEEE| miA W UED) A g miH (HLTD AXFES | midk SUED) AFFES | miAk
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R & | Mo 15,447 8,195 #B #R 4% 3¢ | MEfHa— 7,355 -5,561 AR S 3 | Mo 4,680 ~1,120] #B 4R % 3% | - 12,700 -1,629
it 15,447 8,195 it 7,355 -5,561 it 4,680 -1,120 gt 12,700 -1,629
HiHa—y 1,530 301 HiHa—y 1,677 -189 HiHa—y 250 -1,250 HHHa—py 760 -866
o 4R #EHHa— )L 26,010 -2,463| #1 4R | MEHa-L 64,177 1,983 Mo R | HEHa- 5,970 -22,880] M1 R | EfHa—p 27,801 —37,297
it 27,540 -2,162 it 65,854 1,794 it 6,220 24,130 gt 28,561 —38,163
HiHa—y 29,154 1,727 HiHa—y 0 0 HiHa—y 29,737 4,478 HHHa—py 0 0
5 Ft fEHa— )L 63,325 -623] 1§ FE | EHa- 6,816 3,885 &5 3t | EHHa- 62,520 2,631 & #t |®E{Ea- 8,900 7,785
it 92,479 1,104 it 6,816 3,885 it 92,257 7,109 gt 8,900 7,785
)5} HHHa—) 27,254 1,2271 |1PH HHHa—) 0 0 9)5) HHaa—L 27,537 3,678] |96 AHHHa— 0 0
& 17) | EHa-y 52,717 -2,675 & 13) | mHa—py 0 0 & 17) | Efa—py 57,220 6,341 & 17) | EHa—y 0 0
2t 79,971 1,448 2t 0 0 at 84,757 10,019 it 0 0
HHHa—u 0 0 HHHa—v 0 0 HiHa—v 0 0 Ao 0 0
s R M a1 603 -1,676] 4+ R | MEHa-L 3,692 1,366 s R | EEHa- 520 90| 4+ R | fEHHa- 2,020 -100
it 603 -1,676 it 3,692 1,366 it 520 90 gt 2,020 -100
HiHa—y 0 0 HiHa—y 1,048 42 HiHa—y 0 0 HHHa—py 450 -339
2R M a1 2,937 711 EoisR | MEHa-L 6,772 316 FoHgR | - 80 -2,350] FF2HgR | MEfHa-L 4,460 -2,105
it 2,937 711 it 7,820 358 it 80 -2,350 gt 4,910 -2,444
HiHa—y 431 59 HiHa—y 702 -33 HiHa—y 126 -417 HHHa—py 608 -127
fFa&hse | EfHa- 13,804 533 B4H4 | M- 589 -319 fFaefse | EHEa-L 9,015 -4,185) f§4&+44 | EfHa—n 0 -480
154 2 14,235 ~474 54 2} 1,291 -352 154 2} 9,141 ~4,602 154 2| 608 -607
HHHa— 0 0 HiHa—v 0 0 HiHa—v 0 0 AHiHa— 0 0
BRI 548 94 EBEMRKE | EfHa- 7,290 1,009 R | A 750 200] EMRH | EHa-L 13,069 12,469
it 548 -94 it 7,290 1,009 it 750 200 gt 13,069 12,469
HiHa—y 0 0 HiHa—y 2,200 499 HiHa—y 0 0 HHHa—py 2,500 780
FESRRIEA 3% | M a—) 0 OFIF  FIFAr 363 Mt a—) 32,322 -2,587 FEs R4 ey b a—n 0 OFESS - RIEA 33 Mg a—)L 26,853 -4,565
it 0 0 it 34,522 -2,088 it 0 0 gt 29,353 -3,785
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R R M a1 3,873 -840) £ HH R | EHHa- 0 0 £ HE R | BHEa- 3,700 -200| A | EEa- 0 0
it 3,873 -840 it 0 0 it 3,700 -200 gt 0 0
HiHa—y 300 0 HiHa—y 891 -946 HiHa—y 300 0 HHHa—py 555 -1,649
% D fth $EAH )V 17,425 4,402 O | FEHa-L 14,959 -1,817 Z O | EEHa- 15,548 -5,938] & @ fth | - 6,980 -7,830
e 17,725 4,402 il 15,850] 2,763 it 15,848] 5938 il 1,535 9,479
HiHa—y 31,415 2,087 HiHa—y 6,518 -627 HiHa—y 30,413 2,811 HHa—py 4,873 -2,201
A Et M a—)L 143,972 -1,7250 # & F | fEHa-L 143,972 -1,725 wEE | e 102,783 -33,752| #& & EFF | EHI-L 102,783 33,752
it 175,387 362 it 150,490 -2,352 it 133,196] -30,941 &t 107,656 35,953
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2022 £F 10 H FEReRla— VG Pk s

AT A HET: AT

2022 4 10 H HEERa— L H Kk S

AT A HET: AT

(HLFD H R FE| RiH b (T H gz miA b (LT AXFES | A (GUED) HARFER | miHLt
e 0 0 Fria— 0 0 GECERTE 0 0 Ay 0 0
B R 2 % | Mo 9,403 -6,044] # #R % X | M- 7,247 -108 B4R S | Mo 3,900 ~780| #B £R % X | M- 13,770 1,070
it 9,403] 6,044 i 7,247 108 it 3.900] 780 it 13,7701 1,070
Han 1,577 47 HHa—L 991 ~686 HHa—y 1,850 1,600 A 600 ~160
o 4R M- 22,814 -3,196] it 4R | MEfHa-0 50,776 -13,401 R | MEfLa- 24,699 18,729 i 4R | a0 39,784 11,983
it 24,391]  -3,149 it 51,767 14,087 it 26,549] 20,329 it 40,384 11,823
a1 29,867 713 - 0 0 A fHa— 26,818 ~2,919 =y 0 0
fF e |mmaon|  enzer|  -1sed f2 ge [#Ema—n| 5311|150 f& FC Ao 68005 5485 fF FE MoK 10718) 1818
2t 91,628 -851 s 5,311 -1,505 it 94,823 2,566 it 10,718 1,818
ob AHEa—y 28,144 890] 9B HHa—y 0 0 ob HHa—y 25,118  -2,419| [55 Aa-y 0 0
W 7)) |mmaon|  s3002|  11ss| | @ fR) |#Esman 0 0 (B A7) | fefa-y) 55075 2,045) | (B fR) | AR 0 0
it 82,046| 2,075 it 0 0 it 80,293 4,464 it 0 0
Hfda—pn 0 0 Hfda—pn 0 0 AHHa-y 0 0 Afta-y 0 0
s R M- 570 =33 4 R | Mo 5,638 1,946 gL R | AL 150 =370 4+ B | o 2,090 70
2t 570 -33 it 5,638 1,946 it 150 370 il 2,090 70
A Ra—L 0 0 AHa— 1,503 455 AH{Ha— 0 0 A= 1,371 921
FoMgR | #EMHa— 2,382 -555|  HE2HhER | MEHa- 6,817 45 H2MER | MEHHa— 2,440 2,360| FE2HER | BEHI-L 5,795 1,335
2t 2,382 -555 s 8,320 500 it 2,440 2,360 it 7,166 2,256
HHa—n 455 24 Aia—y 635 67 GRE 392 266 Ay 131 17l
Fape | EHa-y 15,142 1,338 544 | EHa—L 1,260 671 fEdha | HEHI-L 13,080 4,065| fE@H4a | M- 1,310 1,310
154 2 15,597 1,362 1542 2t 1,895 604 154 2 13,472 4,331 54 at 1,747 1,139
Hfda—n 0 0 Hfda—n 0 0 AHHa—-y 0 0 Afta-y 0 0
MRS | g 532 -16] ERARRME | Mo 8,827 1,537 BARRHE | - 550 -200| ERARKE | Mo 11,027 -2,042
2t 532 -16 it 8,827 1,537 it 550 200 il 1L,027] 2,042
A Ra—L 0 0 AHa— 2,023 177 A{Ha— 0 0 A fHa— 2,000 ~500
S A A% | A 0 OFE%: - FEAOH MR- | 31,831 91| FERREAON M- 0 OFESREGHON MEffla—y | 30,498) 3,645
21 0 0 2 33,854 668 2t 0 0 it 32,498 3,145
Hfda—pn 0 0 Hfda—n 0 0 AHHa-y 0 0 Afta-y 0 0
ARG | MR- 3,687 186| kR | MEfHa- 0 0 ARG | SR 3,600 Y IR R L el 0 0
it 3,687) 186 it 0 0 it 3,600 100 it 0 0
HHa—L 299 -1 HHa—p 578 -313 AHHa-y 300 0 HiHa—y 550 -5
oM | - 16,930 -495 & o fth | ML 15,514 555 Z O | - 16,028 4801 & @ fih | fEfH2—) 17,460 10,480
21 17,229 496 e 16,092 242 it 16,328 480 il 18,0100 10,475
HHa—L 32,198 783 HHa—y 5,730 ~788 HHa—y 29,360 1,053 Ha—n 4,958 85
WA E | - 133,221 -10,751} #& & 7+ | #EHa—0 133,221 10,751 WA E | I 132,452 29,669 & & FF | MEEa-0 132,452 29,669
2t 165,419] 9,968 N 138,951| 11,539 N 161,812| 28,616 it 137,410] 29,754
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2022 4 11 H FERehla— VG Pk s

AT A HET: AT

2022 4 11 H HEERa— L H K& S

AT A HET: AT

(HLFD H R FE| RiH b (T H gz miA b (LT AXFES | A (GUED) HARFER | miHLt
AHHa— 0 0 AHHa— 0 0 AHHa— 0 0 AfHa—) 0 0
I S e 6,186  —3,217) #b 4R 4 % | MR- 4,793 2,454 B4R S x| M- 3,150 ~750| # GRS % | ey 10,200{ 3,570
it 6,186] 3,217 &t 4,793| 2,454 il 3,150 750 it 10,200, 3,570
a1 1,884 307 =1 640/ 351 A= 1,925 75 = 630 30
Hoo4R | M 26,201 3,387 4R | MmiHan 44,076 6,700 Hoo gR | HEHa- 24,014 685 b R | HEHa- 44,103 4,319
it 28,085| 3,694 it 44,716 7,051 it 25,939 610 it 44,7331 4,349
frma-n| 28,217 1,650 EEIESD 0 0 Fffa-v| 25,9511 867 Ay 0 0
& &t |#EHa- 64,857 3,0 15 #E | fEHa- 4,409 902 & Ft | #EHa-L 65,649|  -2,356] fF RE | #EHa-p 550| 10,168
it 93,074 1,446 it 4,409 902 it 91,600f 3,223 it 5507 10,168
5% fa—n| 26717 L] 5B A a— 0 0 7h Ay 24551 56Tf 55 Frifa—y 0 0
& 12) SEH 1)) 48,901 -5,001 B 12) |#EHa— 0 0 F 1) |#EHa— 48,729 -6,446 & 13) | - 0 0
it 75,618| 6,428 it 0 0 it 73,280 7,013 it 0 0
AHHa— 0 0 AHHa— 0 0 AHHa— 0 0 AfHa— 0 0
s 4R MEHH 1)) 118 4521 4+ 4R O 11,844 6,206 s R - 50 -100) 4+ 4R e - 2,150 60
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